Multiply by Powers of Ten (G)

Find each product.

78X 1= 38 x 10 =
16 x 100 = 68 X 1=
7%x0,1= 53x 0,001 =
22x0,01= 85x0,01=
83 X 10 = 97 X 0,001 =
53x 0,001 = 64 x 0,1 =
16 X 0,01 = 68 x 0,01 =
74X 1= 8lx1=

22 x1.000 = 25x 0,001 =
67 X 10 = 56 X 100 =
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Multiply by Powers of Ten (G) Answers

Find each product.

78 X1=78 38 X 10 =380

16 x 100 = 1.600 68 X 1 =68
7%x01=0,7 53 x 0,001 =0,053
22x0,01=0,22 85x0,01=0,85
83 X 10 =830 97 x 0,001 =0,097
53 x 0,001 =0,053 64 x0,1=6,4

16 x 0,01 =0,16 68 x 0,01 = 0,68
74 x1=74 81 x1=81

22 x1.000 =22.000 25x 0,001 =0,025
67 X 10 =670 56 X 100 = 5.600
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